G

Con. 5814-10.

TEJETEX ) Sem T ) p o

- Time Is1l2{to
(0"\7}’7“% (REVISEQ&%&E)K 57f ' GT-6690
(3 Hours) - [Total Marks : 100

N.B.: (1) Question No. 1 is compulsory.
(2) Attempt any four questions out of remaining six questions.

(3) Assume any suitable data wherever required but justify the same.

Sr.No | Questions @ks
. ~
Q.1 | Answer any four questions. o
Q.1.a | State and explain the physical significance of s@Iy 05
property of Fourier Series of C.T. Signal
1 Q.1.b | Determine whether following signal is periodio@lon- 05
periodic.
A ({1 1 &1
x(t)= 231n(——t)+4cos ——tJ+4co —-t——ﬂ.’)
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Q.1.c | Classify the following system on the\'sis of stability | 05
and causality. %
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Q.1.d | Explain the relationship efween Fourier transform and | 05
Laplace Transform of a sig
Q.1.€ | Optain the cross correlQof x(t) & h(t) 05
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Q.2.a | Sk ) if, 10
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Q.2.b\\ Convolve the following signals. 10
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Q.3.a

Determine the step response of the system wgose

Q.3.b
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impulse response is A t) e u \
A system has state equation as ® 6 5
x'(') 0 obWe@sf unction.
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|Q.4.a | Find the Fourier series of the following signal. | 12
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Q.4.b | Obtain the Fourier Transform of the s:gnal n|{08
below : '
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Q5.a Find the Fourier transform of {he g;e functlon and | 10
draw the spectrum. \
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Q5. b Find the Fourier transform signhum signal. 05
Q.5.c |State and prove co tion property of Fourier| 05
Transform in Time domain
Q.6.a | Find the Laplace TranS%gm of the signal shown below. | 08
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Q.6.b | Describetpe different random processes. 12
Q.7.a | The di ial equation of the system is given as 10
y(ER8y (1) +25(1) = x(1)
With x(1)=4e2fand y(t)=4
Determine the total response of the system.
Q.7.b | Obtain the inverse Laplace Transform of 10
XSy |
(S+1)(S+2)

For all possible region of conVergence.




